
cPCI PANELS
EXTRUDED FRONT PANELS

MATERIAL: Brushed Aluminum 6063/T6
Trivalent Chem-Film plated or clear Anodized.
RoHS compliant.
MATERIAL THICKNESS: 0.098

PHILLIPS COMPONENTS, INC.   23142 Alcalde Drive, Suite A, Laguna Hills, California 92653
(949) 855-4263   Fax (949) 583-9337   www.phillipscomponents.net    info@phillipscomponents.net

1

0.394
(10.01)

0.135
(3.43)

0.330
(8.38)

Dia 0.104
2 Pl

0.545
(13.84)

0.685
(17.40)

0.784
(19.92)

9.065
(230.25)

G
A

S
K

E
T

  
  
 S

I
D

E

9.060 (230.12)

0

cPCI 4HPx6U

0.330
(8.38)

Notch is optional

0.394
(10.01)

0.135
(3.43)

0.545
(13.84)

0.685
(17.40)

0.784
(19.92)

4.440
(112.78)

G
A

S
K

E
T

  
  

 S
I

D
E

0.295 (7.49)2x0.118
(3.0)

0.234 X 0.130
0.120 R 2x
double "D" hole

0.580
(14.73)

0.106 Dia. Thru
Csk 0.200 Dia. 90

cPCI 4HPx3U

0

B
R

U
S

H
E

D
 D

IR
E

C
T

IO
N

G
A

S
K

E
T

  
  
  

S
I

D
E

1
.5

8
8

 (4
0

.3
4

)

2
X

 1
.2

8
8

 (3
2

.7
1

)

2
X

 .7
8

6
 (1

9
.9

6
)

2
X

 .3
9

5
 (1

0
.0

3
)

9.685 (246.00)

9.567 (243.00)

9.060 (230.12)

8.925 (226.70)

.104

.135 (3.43)

0

0 .507 (12.88)

.625 (15.88)

2
X

 .6
7

5
 (1

7
.1

5
)

2
X

 .5
3

0
 (1

3
.4

6
)

2
X

 O
p

tio
n

a
l

.320 (8.13)

cPCI 8HPx6U

Extruded Profile
for metal clip (C) style gasket.



VPX Panels

PHILLIPS COMPONENTS, INC.   23142 Alcalde Drive, Suite A, Laguna Hills, California 92653
(949) 855-4263   Fax (949) 583-9337   www.phillipscomponents.net    info@phillipscomponents.net

2

Aluminum Alloy
Analy 6063/T6
Finish: Trivalent
Clear Irridite
RoHS Compliant

Dia .104" Dia .104"

0.394
(10.01)

0.394
(10.01)

0.135
(3.43)

0.135
(3.43)

0.988 (25.10) 0.988 (25.10)

0.799 (20.29) 0.799 (20.29)

4.426
(112.42)

4.426
(112.42)

G
A

S
K

E
T

  
  
 S

I
D

E

G
A

S
K

E
T

  
  
 S

I
D

E

0.295 0.295

0.118 0.118

0.234 X 0.130
0.120 R 2x
double "D" hole

0.234 X 0.130
0.120 R 2x
double "D" hole

0.580
(14.73)

0.580
(14.73)

0.106 Dia. Thru
Csk 0.200 Dia. 90

0.106 Dia. Thru
Csk 0.200 Dia. 90

5.059
(128.50)

5.059
(128.50)

.500 always milled
off top only

F
a
r 

si
d

e
 o

f 
p

a
n

e
l

Metal Clip (C) Extruded Profile

F
ro

n
t sid

e
 o

f p
a
n

e
l



cPCI HANDLES

PHILLIPS COMPONENTS, INC.   23142 Alcalde Drive, Suite A, Laguna Hills, California 92653
(949) 855-4263   Fax (949) 583-9337   www.phillipscomponents.net    info@phillipscomponents.net

3

Phillips Components, Inc.

Phillips Components, Inc.

Injector/Ejector Top Handle

Injector/Ejector Bottom Handle

cPCI-E-200B

cPCI-E-200A



PMC BEZEL
and accessories

MATERIAL: Brushed Aluminum 6063/.T5
Trivalent Chem-Film plated, clear Anodized,
black Anodized or unplated.
RoHS compliant.
GASKET: Available with standard or copper
gasket.

PHILLIPS COMPONENTS, INC.   23142 Alcalde Drive, Suite A, Laguna Hills, California 92653
(949) 855-4263   Fax (949) 583-9337   www.phillipscomponents.net    info@phillipscomponents.net

4

PMC 3000

STAND OFF

.050
(1.27)

2.815
(71.50)

.178
(4.52)

PROFILE

TOP VIEW

.508
(12.90)

R.118
(3)

.036
(0.92)

.394
(10.0)

DETAIL

0.039
(1)

0.098
(2.50)

0.030 deep
R.035

.472
(12)

.178
(4.52)

R.089
(2.26)

2.736
(69.49)

m2.5
threaded
2 places

PART NUMBERS:
PMC 3000-001: Bezel with gasket, no plating
PMC 3000-003: Bezel with gasket, black Anodized
PMC 3000-006: Bezel without gasket, black Anodized
PMC 3000-007: Bezel with gasket, clear Chem-Film
PMC 3000-008: Bezel without gasket, clear Chem-Film
PMC 3000-012: Bezel with gasket, clear Anodized

0.394
(10)

P/N A

PMC 3000-011-9

PMC 3000-011-10

PMC 3000-011-11

0.354
(9)

0.433
(11)A

0.140 0 x 90 csk (2 plcs)

0.197

M2.5x.45 - 6H Thru



FMC Bezels

PHILLIPS COMPONENTS, INC.   23142 Alcalde Drive, Suite A, Laguna Hills, California 92653
(949) 855-4263   Fax (949) 583-9337   www.phillipscomponents.net    info@phillipscomponents.net

5

Aluminum
6063/.T5

RoHS Compliant.

Available in various finishes.

.051
(1.29)

.101
(2.57)

0
.0

0

0
.8

9
 (2

.2
6

)

.1
7

7
 (4

.4
9

)

2
.2

2
6

 (5
6

.5
4

)

2
.3

1
5

 (5
8

.8
0

)

2
.4

0
4

 (6
1

.0
6

)

2.352
(59.74)

PROFILE

TOP VIEW

.500 (12.70)

0.00

R.118
(3)

.036 (0.91)

.430 (10.92)

DETAIL

.098 (2.48)

.143 (3.63)

0.00
0.025 (0.64)

0.073 (1.85)

2x .081 Thru
M2.5x0.45
- 6H Thru

.571
(14.50)

.177
(4.49)

R.089
(2.26)



EURO PACKAGING
VME FRONT PANELS

MATERIAL: Brushed Aluminum 6061/T6
Trivalent Chem-Film plated, clear Anodized
or black Anodized.
RoHS compliant.       MATERIAL THICKNESS: 0.098

PHILLIPS COMPONENTS, INC.   23142 Alcalde Drive, Suite A, Laguna Hills, California 92653
(949) 855-4263   Fax (949) 583-9337   www.phillipscomponents.net    info@phillipscomponents.net

6

0.118
(3.00)

0.130
(3.3)

0.106 Dia. Thru
Cck .200 Dia. 90
2 places

0.155 (3.94)

0.540
(13.72)

0.187
(4.75)

0.148
(3.76)

0.234
(5.94)

0.530
(13.46)

0.492
(12.5)

4HP3 series

4HP6 series

8HP3 series

8HP6 series

12HP3 series

12HP6 series

5.060

10.309

5.060

10.309

5.060

10.309

0.784

0.784

1.588

1.588

2.384

2.384

P/N A B

0.492
(12.50)

0.797
(20.24)

8HP625

8HP610

4HP6054HP610

4HP305

8HP605 8HP625

Fixed Knob
Front Panels

A

B

A

0.530
(13.46)

0.118
(3.0)

0.295
(7.49)

0.155
(3.94)

0.148
(3.76)

B

0.530
(13.46)

0.492
(12.50)

4HP300

A

0.530
(13.46)

0.118 (3.0)
0.295 (7.49) x3

0.118
(3.0)

0.092
(2.34)

0.200
(5.08)x4

0.110 (2.79)
4plcs

0.500 (12.70)

B

8HP6004HP390

A

B

4.060
(103.12)

Optional
0.295

(7.493)

4HP600

Optional
0.295

(7.493)

9.303
(236.30)

A

4HP900

14.560
(369.82)

15.560
(395.22)



EURO PACKAGING
EXTRUDED FRONT PANELS

MATERIAL: Brushed Aluminum 6063/T6
Trivalent Chem-Film plated or clear Anodized.
RoHS compliant.
MATERIAL THICKNESS: 0.098

PHILLIPS COMPONENTS, INC.   23142 Alcalde Drive, Suite A, Laguna Hills, California 92653
(949) 855-4263   Fax (949) 583-9337   www.phillipscomponents.net    info@phillipscomponents.net

7

Detail A

0.540
(13.72)

0.187
(4.75)

A

0.118 (3.0)

0
.1

0
6

 D
ia

. 
T

h
ru

C
sk

 .
2

0
0

 D
ia

. 
9

0
2

 p
la

c
e
s

0.155
(3.94)

0.155
(3.94)

0.148
(3.76)

0.148
(3.76)

Detail A

Detail B

0.530
(13.46)

0.530
(13.46)

0.492
(12.50)

B

0.492 (12.50)

Detail B
0.234 (5.94)

0.130
(3.30)

0.120 (3.05)R 
2 places

Extruded Profile
for metal clip (C) style gasket.

Extruded Profile
for Spira, aluminum wrapped silicone gasket

0.090

0.069

R0.005
(2)

R0.020 MAX(2)

0.092
TAN

0.140 0.030

0.022
TAN

R0.010 MAX.
(4)

R0.015 MAX.

50
(2)

0.750

0.784

R0.015 MAX.

0.098
0.200

FULL R

R0.020 MAX (2)

0.500 (12.7) milled off 
top and bottom

G
A

S
K

E
T

  
  

S
I
D

E

0.492
(12.50)

0.797
(20.24)

4HP3 series

4HP6 series

8HP3 series

8HP6 series

12HP3 series

12HP6 series

5.060

10.309

5.060

10.309

5.060

10.309

0.784

0.784

1.588

1.588

2.384

2.384

P/N A B

8HP625

4HP605

0.118
(3.0)

0.295 (7.49)x2

4HP310



EURO PACKAGING
VME FRONT PANEL HARDWARE

PHILLIPS COMPONENTS, INC.   23142 Alcalde Drive, Suite A, Laguna Hills, California 92653
(949) 855-4263   Fax (949) 583-9337   www.phillipscomponents.net    info@phillipscomponents.net

8

VME Hardware Kits

0.430
(10.92)

0.165
(4.19)

0.330
(8.38)

0.509
(12.93)

0.590
(14.99)

0.257
(6.53)

0.240
(6.09)

0.230 (5.84)

0.320
(8.13)

0.170
(4.32)

0.160
(4.06)

0.439
(11.15)

0.176 (4.47)

0.164 (4.17)

1.09 (27.67)

0.779
(19.79)

0.080 (2.03)

0.045
(1.14)

0.201
(5.11)

0.201
(5.11)

0.075
(1.91)

0.120
(3.05)

0.235 (5.97)

0.100
(2.54) 0.465

(11.81)

0.563
(14.30)

0.150R
(3.81)

0.559
(14.20)

0.945
(24.00)

0.174 (4.42) Dia. hole thru

0.170 (4.32)R

0.200
(5.08)0.510

(12.95)
0.603

(15.32)

VMEK1050 L & R
VMEB2050 L & R

VMEK1150 L & R
VMEB2150 L & R

Nylon 6/6 30% glass
V0 RoHS is Rev. R

VME 3U1400:
1 VMEK1000 knob
1 VMEB2000 support bracket
1 VMEB2200 support bracket
2 VMER 3050 retainer sleeves
2 VMES4000 captive screws
1 VMEP5000 ID plate
1 M2.5x8, 2 M2.5x10
1 M2.5x16 screws
4 M2.5x45P hex nuts.

VME 3U1450:
1 VMEK1050L knob
1 VMEB2050L support bracket
1 VMEB2200 support bracket
2 VMER 3050 retainer sleeves
2 VMES4000 captive screws
1 VMEP5050 ID plate
2 M2.5x8, 1 M2.5x10
1 M2.5x14 screws
4 M2.5x45P hex nuts.

VME 6U1400:
2 VMEK1000 knobs
2 VMEB2000 support brackets
1 VMEB2200 support bracket
2 VMER3050 retainer sleeves
2 VMES4000 captives screws
2 VMEP5000 ID Plates
1 M2.5x8
3 M2.5x10
2 M2.5x16 screws
6 M2.5x45P hex nuts.

VME 6U1450:
1 ea. VMEK1050 L&R knobs
1 ea. VMEB2050 L&R brackets
1 VMEB2200 support bracket
2 VMEP5050 ID Plates
3 M2.5x8, 
1 M2.5x10
2 VMES4000
2 VMER3050
2 M2.5x14
6 M2.5x45P hex nuts.

VME 6U2400:
2 VMEK1100 knobs
2 VMEB2000 brackets
1 VMEB2200 bracket
2 VMER3050 retainer sleeves
2 VMES4000 captive screws
2 VMEP5100 ID Plates
1 M2.5x8
3 M2.5x10
2 M2.5x16 screws
6 M2.5x45P hex nuts.

VME 6U2450 kit:
1 ea. VMEK1150 L&R knobs
1 ea.  VMEB2150 L&R brackets
2 VMEP5150 ID Plates
1 each VMEB2050 L&R brackets
 2 VMEB2200 support brackets
4 VMER3050 retainer sleeves
4 VMES4000 captive screws
4 M2.5x14
2 M2.5x10
6 M2.5x8 screws
12 M2.5x45P hex nuts.



EURO PACKAGING
VME FRONT PANEL HARDWARE

PHILLIPS COMPONENTS, INC.   23142 Alcalde Drive, Suite A, Laguna Hills, California 92653
(949) 855-4263   Fax (949) 583-9337   www.phillipscomponents.net    info@phillipscomponents.net

9

VME Assembly

VMEP5050

VMES4000

VMER3050
VMER3150

VMEK1050

M2.5x8

M2.5x8

M2.5x14

M2.5x10
VMEB2200

M2.5x45P
VMEB2050

PCB

4HP605

VMEP5050

VMES4000

VMER3050
VMER3150

VMEK1050

M2.5x8

M2.5x8

M2.5x14

M2.5x10
VMEB2200

M2.5x45P
VMEB2050

PCB
8HP605



EURO PACKAGING
VME FRONT PANEL HARDWARE

PHILLIPS COMPONENTS, INC.   23142 Alcalde Drive, Suite A, Laguna Hills, California 92653
(949) 855-4263   Fax (949) 583-9337   www.phillipscomponents.net    info@phillipscomponents.net

10

Fixed Panel Knobs

VMEK 1000

I.D. Plates

Metal Retainer Sleeves
VMER3150M

Plastic Brackets
VMEB2000

Plastic Brackets
VMEB2200

Die-cast alloy
RoHS compliant

Polypropylene

Metal Brackets
VMEB2100M

Plastic Retainer Sleeves
VMER3050

VMES4000
VMES4000PH
VMES4000L

VMEK 1100

Nylon 6/6 30% glass
V0 RoHS is Rev. R

Nylon 6/6 30% glass
V0 RoHS is Rev. R

0.594
(15.09)

0.625
(15.88)

0.085
(2.16)

NIPPLE
0.095 
(2.41)Dia.

0.200 (5.08)
0.600

(15.24)

0.518
(13.06)

0.056
(1.42)

6061/T6 Anodized
Extruded Aluminum
Custom Marking Available

A

A

VMEP5050 0.748

1.55

2.32

VMEP5150

VMEP5350

0.225
(5.72)

0.755
(19.18)

0.105
(2.67)Dia.

0.187
(4.75)Dia.

0.200 C. - C.
(5.08)

1.40
(35.56)

0.225
(5.72)

1.55
(39.37)

0.105
(2.67)Dia.

0.187
(4.75)Dia.

0.270
(6.86)

0.100 (2.54)

0.068
(1.73)

0.269
(6.83)

0.280
(7.11)

0.213
(5.41)

0.240
(6.10)

0.200 DIA.
(5.08)

0.170
(4.32)

0.123 (3.12)

0.314
(7.98)

0.164
(4.17)

0.268
(6.81)

0.233 (5.92)

0.122 (3.10)

0.077 
(1.96)Diam.

0.200
(5.08)Diam.

0.174 (4.42)

0.118
(3.0)

0.132 (3.35) 0.080
(2.03)

0.061
(1.55)

0.110
(2.79)

M2.5

0.080
(2.03)

.200
(5.08)

.520 (13.208) (L)*

.433 (11.00)

.480 (12.19)

.560 (14.224)

M2.5 threads

0.285
(7.24)

0.100
(2.54) Dia.

0.210
(5.33)

0.300
(7.62) 0.475

(12.07)
0.645

(16.38)

0.340
(8.64)

0.100
(2.54) Dia.

0.372
(9.45)

0.230
(5.84)

0.290
(7.37)

0.185 (4.70)

0.150
(3.81)

0.080
(2.03)

0.504
(12.80)

0.244
(6.20)

0.387
(9.83)

0.285
(7.24)

0.210
(5.33)

0.100
(2.54)Dia.

0.125
(3.18)

0.265
(6.73)

0.122 (3.10)

0.100
(2.54) Dia. 0.240

(6.10)

0.345
(8.76)

0.313 (7.95)

0.173 (4.39)

0.327 (8.31)
0.412 (10.46)

0.119
(3.02)

M2.5

0.221
(5.61)

0.080
(2.03) Diam.

0.210
(5.33)

Die-cast Zinc
Bright Nickel
RoHS compliant

.080
(2.03) Dia.

0.276 (7.01)

0.338 (8.59)

0.409 (10.39)

0.329
(8.36)

0.437
(11.10)

M2.5

0.205
(5.21)

0.208
(5.28)



E X T R A C T O R S

E-7
E-7-RS
E-7-780
E-7-780-RS
E-7-790
E-7-790-RS

EL-7
EL-7-RS
EL-7-790

0.36

0.73

Card clearance required when rotated.

Note: Recessed label
area for part numbers
indicated with “RS”.

0.250

0.250

0.095

Roll Pin

0.156 R

2.00

Note

0.590

0.475

0.290

0.290

0.435

0.500

Dotted area
0.25 x 1.32
depth 0.016

0.94 Dia. Hole

0.065

0.435

0.220

0.900

0.060

2.00

0.590

0.475

PCB

0.900

0.090

0.094 Dia. Hole

0.290

0.070 / 0.080 /
0.093

Assembly Pin
2 Plcs

ROLL PIN: Stainless Steel (3/32” Dia. x 1/4” long)
furnished with each ejector.
Two (2) furnished with each “L” series ejector.

MATERIAL: 30% glass-filled nylon 6/6
Meets UL 94V-0. RoHS compliant.

PHILLIPS COMPONENTS, INC.   23142 Alcalde Drive, Suite A, Laguna Hills, California 92653
(949) 855-4263   Fax (949) 583-9337   www.phillipscomponents.net    info@phillipscomponents.net

11



PHILLIPS COMPONENTS, INC.   23142 Alcalde Drive, Suite A, Laguna Hills, California 92653
(949) 855-4263   Fax (949) 583-9337   www.phillipscomponents.net    info@phillipscomponents.net

12

E-1 E-2
E-2-093
E-2-125

E-4

E-6

E-3

E-5

.250

.090

.090

.090

.090

.090

.375

.140R

.688

.500

1.020

.250

.388

1.125

.688

.140R

.250

.500

.290

1.255

.519

.294

.945

.470 1.255

.270

.125R
5 ½

.250

1.125

.688

.140R

.250

.500

.250

1.093
.090

.390

.375

.125

.375

1.50

.25

.250

.620

MATERIAL:
Nylon 6/6. Meets UL 94V-2

Roll Pin:
Stainless Steel.
Furnished with each extractor.

APPLICATION DATA: Fits 1/16” thick boards.
Except E-2-093 fits 0.093 boards.
E-2-125 fits 0.125 thick boards.

* Custom hot stamping of 
   numbers, letters and logos!

* Numerous colors available!

E X T R A C T O R S



CARD GUIDES

PHILLIPS COMPONENTS, INC.   23142 Alcalde Drive, Suite A, Laguna Hills, California 92653
(949) 855-4263   Fax (949) 583-9337   www.phillipscomponents.net    info@phillipscomponents.net

13



CARD GUIDES

PHILLIPS COMPONENTS, INC.   23142 Alcalde Drive, Suite A, Laguna Hills, California 92653
(949) 855-4263   Fax (949) 583-9337   www.phillipscomponents.net    info@phillipscomponents.net

14

100 degree chamfer.



PHILLIPS COMPONENTS, INC.   23142 Alcalde Drive, Suite A, Laguna Hills, California 92653
(949) 855-4263   Fax (949) 583-9337   www.phillipscomponents.net    info@phillipscomponents.net

15

E X T R A C T O R S



EXTRACORS

PHILLIPS COMPONENTS, INC.   23142 Alcalde Drive, Suite A, Laguna Hills, California 92653
(949) 855-4263   Fax (949) 583-9337   www.phillipscomponents.net    info@phillipscomponents.net

16


